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)a—y 74275 X 0.4381 = 3254.0
EREIa—y 7482.5 x 0.3614 E= 2704.2
RUILAHR 5935.0 x 0.2005 = 1190.0
& &t 7148.1
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7148.1 X 0.055 = 393.1
EREHEHS (— AR EMBAMERKY)
=T 393.1
HEM 393.1 X 10% = 393
X3 X4
y;p 0.027 x 30,900 = 8343
Z0ith ESED13%
(393.1+39.3+834.3] x 0.13 = 164.67
&t 1431.4
mBYDEEEME () 8343 x 0.16074 = 134.11 %5
EERFIEE(K) 13411 = 14314 x 100 = 9.369
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Y-y 8,500.0 x 0.0465 = 395.3
ERI)a—y 4,062.5 x 0.4454 = 1809.4
RYHILT7AR 3,862.5 x 0.0912 = 3523
RUHLAV R 2,475.0 x 0.4169 = 1031.8
& &t 3588.8
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3588.8 x 0.25 = 897.2
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=5 897.2
HWEM 897.2x 10% = 89.7
%3 X4
B5KT 0.039 x 30,900 = 1205.1
Z0ith ES2D13%
(897.2+89.7+1205.1] X 0.13 = 285.0
‘&t 2477.0
mBYDEEEMEG) 12051 x 016074 = 193.7 X5
EERAEEK) 1937 = 24770 x 100 = 7.820
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1R H—IV T 0.552 X 9.369 = 5.1717
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